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1.   Evaluate . 

[Solution] 

 

                     

                     

 
Let , then . 

When ,  and when , . 

Thus  

                              

                              

                              

                              

 
 

2.   Evaluate . 

[Solution] 
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Thus  

                             

                             

                             

                             

                             

 
 
 
 
 

3.   Evaluate . 

[Solution] 
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4.   Evaluate . 
 

[Solution] 1 
 

 

                            

                            

 
Let , then . 

Thus  

                                     

                                     

                                     

                                     

                                     

 
 
[Solution] 2 

 

                            

 
Let , then .  
Thus  

                                     

                                     

                                     

                                     

 
 
 

 

3 5sin cos  x x dxò
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5.   Evaluate . 
[Solution] 

 

                             

                             

                             

                             

                             

 
 
 

6.   Evaluate . 
[Solution] 

 

                            

 
Let , then . 
Thus  

                                     

                                     

                                     

                                     

 
 
 
 

7.   Evaluate . 
[Solution] 
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Let , then .  
Thus  

                                      

                                      

                                      

                                      

 
 
 
 

8.   Evaluate . 

[Solution] 

 

                     

 
Let , then .  

When ,  and when , . 

Therefore,  
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9.   Evaluate . 

[Solution] 

 (apply the identity tan^2 x + 1 = sec^2 x to the denominator) 

       (rewrite sec^2 x as cos^2 x) 
            (apply the identity cos^(2 x) = cos^x – sin^x) 
                        

                        

10.  Evaluate . 
[Solution] 1 

 

                             

 
Let , then . 
Thus  

                                      

                                      

                                      

                                      

 
[Solution] 2 

 

                             

Let , then . 
Thus  
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tanu x= 2sec  du x dx=
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